Adding Integers (A)

Name:

7+ 7 =
-9+ (-9) =
6+ (=7)=
—8 + (—6) =
-6+ 6 =
8+ (—9) =
7+ (—6) =
—-9+6
8+ 38
-8+ (=7) =
7+1
—-3+7
—-9+7
74+4 =
1+(-1)=
9+8 =
-3+ (-8)=
-8+ (—4) =
545 =
-1+ (=3)=
—5+1
—54+(=3) =
-2+ (=8) =
—2+6 =
443 =

Date: Score:
Calculate each sum.

6+ (—3)= 346 =
-2+ (-7) = 4+ (-9) =
448 -3+ (—4)=
9+ (-1) = 2+ (=5)=
-3+ (=2)= 441 =
-7+ (-9) = 349 =
—-6+9 = 4+5
—8+ (=3) = -8+ (-5) =
7+ (—8) = 6+ (—1)=
4+ (=2)= 54 (—6)=
1+8 = 7+ 5
—7+(=3)= —8+(—1)=
9+ (-2) = 2+3
—2+4 2+1 =
54+9 -3+ (-1)=
=5+ (=2)= 7+ (-2)=
6+ 8 —6+4
—9+5 —6+ 5
4+7 = 24+(-9) =
4+ (—6) = —4+4 =
9+4 = —-1+4
—-5+4 54 (-8) =
-2+ (-2)= —6+2
—3+4+5 8+2 =
54+ (=7)= 1+7 =
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Adding Integers (A) Answers

Name:

7+7

_9+(_
6+ (—
_8_|_(_

-6+ 6

8+ (—
7+ (-

—-9+6
8+ 8

_8+(_

741
347
947

744

1+ (=

9+38

_3_|_(_
_8+(_

5+5

_1_|_(_

—-5+1

_5_|_(_
_2_|_(_

—2+6
443

9) =
7) =
6) =
9) =
6) =

7) =

1) =

8)
4) =

3) =

3) =
8)

14

Date:
Calculate each sum.
6+(-3)= 3
-2+ (-7)= -9
448 = 12
9+ (-1)= 8
-3+ (-2)= -5
—74+(—9)=-16
—6+9 = 3
-8+ (—-3)=-11
7+ (-8)= -1
44 (-2)= 2
1+38 = 9
-7+ (=3)=-10
9+(-2)= 7
—2+4 = 2
5+9 = 14
—5+(-2)= -7
6+ 8 = 14
—-9+5 —4
447 = 11
4+ (—6)= —2
944 = 13
—5+4 —1
—2+(-2)= —4
—3+5 = 2
54(=7)= -2

3+6

44 (-
_3_|_(_
2+ (-

4+1
349
445

_8_|_(_
6+ (—
5+ (-

7+5

_8_|_(_

2+3
2+1

_3_|_(_
7+ (-

—6 + 4
—6+5

2+ (-

—4+4
~1+4

5+ (—

—6 + 2
8+ 2
1+7

Score:

9= —5
4= -7
5 = —3

5)=—13
D= 5
6)= —1

)= —9

D= —4
D= 5

9)= —7

8)= —3
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